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ARITHMETIC PROGRESSIONS

Objective Type Questions Multiple Choice Questions

1. Which of the followig is not an A.P?

A —1.2,0.8,28, ...

B.3,3++/2,34+2/2,3+32,...



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_YABd4yy8XVs9

L = vvailln viaco S0Iution

2.1n an Ap, ifa=3.5,d =0 and n =101, then a,, will be

A.O

B.3.5

C.103.5

D.104.5

Answer: B

° Watch Video Solution

3.The list of number -10, -6, -2, 2, ... is

A.an AP withd = — 16

B.an APwithd =4

C.an APwithd=—4


https://dl.doubtnut.com/l/_YABd4yy8XVs9
https://dl.doubtnut.com/l/_selfETBvDQfX
https://dl.doubtnut.com/l/_6VAvND1vYEKQ

D. not an AP

Answer: B

° Watch Video Solution

4. The first term of an AP. is 5 and the last term is 45. If the sum of all the

terms in 400. the number of terms is

A. 20

B.8

C.10

D.16

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_6VAvND1vYEKQ
https://dl.doubtnut.com/l/_XazB3gEPGWFL
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5. The common difference of the AP —,
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° Watch Video Solution

6. The n'" term of the AP. a, 3a, 5a, ... Is

A.na
B.(2n — 1)a
C.(2n — 1)a

D. 2na



https://dl.doubtnut.com/l/_x6di18kHUXvu
https://dl.doubtnut.com/l/_NKS70OqSycg2

Answer: B

° Watch Video Solution

—5 5
7.The 11th term of an AP -5, 5 0, 70

A —20

B. 20

C.—30

D.30

Answer: B

° Watch Video Solution

8. The first four terms of an A.P. whose first term is —2 and the common

difference is — 2 are


https://dl.doubtnut.com/l/_NKS70OqSycg2
https://dl.doubtnut.com/l/_yddMhCggqYWq
https://dl.doubtnut.com/l/_TH5vhLxYxMQf

A —2,0,2 4

B.—2,4, — 8,16

C.—2, —4, —6, —8

D.—2, —4, —8, — 16

Answer: C

° Watch Video Solution

9. The 21st term of an AP whose first two terms are -3 and 4, is

A 17

B.137

C.143

D. —143

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_TH5vhLxYxMQf
https://dl.doubtnut.com/l/_QEpAcgMFBdNP

10. Which term of the AP 21, 42, 63, 84,..Is 2107

A. 9

B. 10t

c. 11t

D. 12t"

Answer: B

° Watch Video Solution

11. The value of x for which 2x, ( x + 10) and (3x + 2) are the three

consecutive terms of an AP, is

A.6

C.18


https://dl.doubtnut.com/l/_QEpAcgMFBdNP
https://dl.doubtnut.com/l/_tZobpDOmnU11
https://dl.doubtnut.com/l/_rggVNKmjx0xF

D.—18

Answer: A

° Watch Video Solution

12. The first term of an AP is p and the common difference is q, then its

20th term is

A.q +19p

B.p-9q

C.p+19q

D.2p +9q

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_rggVNKmjx0xF
https://dl.doubtnut.com/l/_XyTKTEXtMTGV

13. If the common difference of an AP is 10, then what is a5 — a4?

A5
B. 20
C. 25

D.30

Answer: b

o Watch Video Solution

14. Two APs have the same common difference. The first term of one of

these is -1 and that of the other is -8. The difference between their 4th

terms is
A—1
B.—8

C.7


https://dl.doubtnut.com/l/_C6eu3JnT0Z6s
https://dl.doubtnut.com/l/_FycQ2Oi4b0qq

Answer: C

° Watch Video Solution

15. The famous mathematician associated with finding the sum of the first

100 natural numbers is

A. Pythagoras

B. Newton

C. Gauss

D. Euclid

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_FycQ2Oi4b0qq
https://dl.doubtnut.com/l/_oZOccf3VagPP

16. If k, 2k — 1 and 2k + 1 are three consecutive terms of an AP, the

value of k is

A.2

B.3

D.5

Answer: B

° Watch Video Solution

17.If the first term of an AP is -5 and the common difference is 2, then the

sum of the first 6 terms is

A.0

B.5

C.6


https://dl.doubtnut.com/l/_UtF2iQLGZFJR
https://dl.doubtnut.com/l/_U4fVltCIqm9q

D.15

Answer: A

° Watch Video Solution

18. The 11 term of the AP: V2,342,542, .... is:

A 17/2
B.19+/2
C.21/2
D. 23./2

Answer: C

o Watch Video Solution

19. The sum of the first 10 terms of the AP: 20, 16, 12,.... Is:

| o=


https://dl.doubtnut.com/l/_U4fVltCIqm9q
https://dl.doubtnut.com/l/_2k7IvyYhnY47
https://dl.doubtnut.com/l/_lBViN5tnEW0n

l el Watch Video Solution

20.In an AP, if a =1, a,=20 and S,, =399, then n is equal to

A.19

B. 21

C.38

D. 42

Answer: C

° Watch Video Solution

21. Which of the following is not an A.P?

A —1.2,08,2.8,...

B.3,3++2,34+2v2,3+3V2,...
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https://dl.doubtnut.com/l/_lBViN5tnEW0n
https://dl.doubtnut.com/l/_Mgjuq228SeQh
https://dl.doubtnut.com/l/_iQkfSmtsWXwE

-1 -2 -3
3757 577

Answer: C

° Watch Video Solution

22.1n an Ap, if a=3.5,d =0 and n =101, then a,, will be

A.O

B.3.5

C.103.5

D. 104.5

Answer: B

° Watch Video Solution

23.The list of number -10, -6, -2, 2, ... is


https://dl.doubtnut.com/l/_iQkfSmtsWXwE
https://dl.doubtnut.com/l/_y0ZWCXm7xRxs
https://dl.doubtnut.com/l/_KEybrUo5E6uA

A.an AP withd = — 16

B.an APwithd =4

C.an APwithd=—-4

D. not an AP

Answer: B

o Watch Video Solution

24. The first term of an AP is -5 and the last term is 45. If the sum of the
terms of the AP is 120, then find the number of terms and the common

difference.

A. 20

B.8

D.16


https://dl.doubtnut.com/l/_KEybrUo5E6uA
https://dl.doubtnut.com/l/_Sdvqf0TAjPYP

Answer: D

° Watch Video Solution

. 1 1-p 1-—-2p
25. The common difference of the AP —, , e IS

p p

Answer: C

° Watch Video Solution

26. What is the sum of first n terms of the AP a, 3a, 5a,....

A.na


https://dl.doubtnut.com/l/_Sdvqf0TAjPYP
https://dl.doubtnut.com/l/_ylqw0AIRtZCE
https://dl.doubtnut.com/l/_5SaqoqUsycsp

B.(2n — 1)a
C.(2n — 1)a

D. 2na

Answer: B

° Watch Video Solution

-5 5
27.The 11th term of an AP -5, 5 0, 50

A —20

B. 20

C.—30

D.30

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_5SaqoqUsycsp
https://dl.doubtnut.com/l/_MLIpIyODv6of
https://dl.doubtnut.com/l/_6lScbHfgwrXx

28. The first four terms of an A.P. whose first term is —2 and the common

difference is — 2 are

A —2,0,2 4

B.—2,4, — 8,16

C.—2 —4, —6, —8

D.—2, —4, —8, — 16

Answer: C

° Watch Video Solution

29. The 21st term of an AP whose first two terms are -3 and 4, is

A 17

B.137

C.143

D. —143


https://dl.doubtnut.com/l/_6lScbHfgwrXx
https://dl.doubtnut.com/l/_I3s9CQvN4vba

Answer: B

° Watch Video Solution

30. Which term of the AP 21, 42, 63, 84,..Is 210?

B. 10™

c. 11t

D. 12t"

Answer: B

° Watch Video Solution

31. Write the value of x for which 2z, = + 10 and 3z + 2 are in AP.

A.6


https://dl.doubtnut.com/l/_I3s9CQvN4vba
https://dl.doubtnut.com/l/_iXjohQhsvI74
https://dl.doubtnut.com/l/_ZkywIqisaKRY

D.—18

Answer: A

° Watch Video Solution

32. The first term of an AP is p and its common difference is q. Find its

10th term.

A.q+9p

B.p-9q

C.p+9q

D.2p +9q

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ZkywIqisaKRY
https://dl.doubtnut.com/l/_GzjIdL0OV8t3

33. If the common difference of an AP is 5, then what is a;g — a3 ?

A5

B. 20

C. 25

D. 30

Answer: C

o Watch Video Solution

34. Two APs have the same common difference. The first term of one of

these is -1 and that of the other is -8. The difference between their 4th

terms is


https://dl.doubtnut.com/l/_GzjIdL0OV8t3
https://dl.doubtnut.com/l/_U37MnDV2Kmsr
https://dl.doubtnut.com/l/_4X6khP5RQcvp

C.7

Answer: C

° Watch Video Solution

35. The famous mathematician associated with finding the sum of the

first 100 natural numbers is

A. Pythagoras

B. Newton

C. Gauss

D. Euclid

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_4X6khP5RQcvp
https://dl.doubtnut.com/l/_XKYxsR5FpcpQ
https://dl.doubtnut.com/l/_3QZhSX6KNlj0

36. If k, 2k — 1 and 2k + 1 are three consecutive terms of an AP, the

value of k is

A2

B.3

D.5

Answer: B

o Watch Video Solution

37.If the first term of an AP is -5 and the common difference is 2, then the

sum of the first 6 terms is

A.O

B.5

C.6


https://dl.doubtnut.com/l/_3QZhSX6KNlj0
https://dl.doubtnut.com/l/_LpW0N2XPQP1H

D.15

Answer: A

° Watch Video Solution

38.The 11" term of the AP: V2, 3v/2,5v2, .... is:

A 17/2
B.19+/2
C.21/2
D. 23./2

Answer: C

° Watch Video Solution

39. The sun of first 16 terms of the AP 10, 6, 2, ... is


https://dl.doubtnut.com/l/_LpW0N2XPQP1H
https://dl.doubtnut.com/l/_UHSp09MCQRmp
https://dl.doubtnut.com/l/_IWE4ACyVmHLo

A —320

B.320

C. —352

D. —400

Answer: A

o Watch Video Solution

40.In an AP, if a=1,a,=20 and S,, =399, then n is equal to

A.19

B. 21

C.38

D. 42

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_IWE4ACyVmHLo
https://dl.doubtnut.com/l/_u3aMEw8HX6MK

Objective Type Questions Fill In The Blanks

1. Fill the two blanks in the sequence 2,  ,26,  so that the sequence

forms an A.P.

° Watch Video Solution

2.The sum of first 16 terms of the AP 5, 8, 11, 14, ..... Is. ......... .

° Watch Video Solution

3. The common difference of an AP. 6, then a5 — a7 .

° Watch Video Solution



https://dl.doubtnut.com/l/_u3aMEw8HX6MK
https://dl.doubtnut.com/l/_f8llUOpe9h9J
https://dl.doubtnut.com/l/_Wu8N3oDJ2gcJ
https://dl.doubtnut.com/l/_2gyeKphp7WOh

4
4.If 5 a, 2 are three consecutive terms of an AP, then find the value of

o Watch Video Solution

5.1f 4,21, 9, x5 28 are in AP then x5 = ?

o Watch Video Solution

6.1f S, = 5n® + 3n, then 2™ term is v .

o Watch Video Solution

7.Find the 16" term of the AP: 2,7,12,17, .......

o Watch Video Solution



https://dl.doubtnut.com/l/_203uEbRAVIdn
https://dl.doubtnut.com/l/_4zhaoJFIxb8O
https://dl.doubtnut.com/l/_y6yow3UeVCR1
https://dl.doubtnut.com/l/_T1CP23BLbCeR

8. The number of terms of AP: 18, 16, 14, ... That make the sum zero, is

o Watch Video Solution

9. Second term of the AP if the S, = n% + N is v

o Watch Video Solution

10. Fill the two blanks in the sequence 2, 26,

sequence forms an AP.

so that the

o Watch Video Solution

11. The sum of first 16 terms of the AP 5, 8, 11, 14, ....... is

o Watch Video Solution



https://dl.doubtnut.com/l/_xWY6zwH9g6SQ
https://dl.doubtnut.com/l/_Usl0Z2x4jfSY
https://dl.doubtnut.com/l/_u8rqnHuEB2kv
https://dl.doubtnut.com/l/_WFN2oyQCVZHk
https://dl.doubtnut.com/l/_0NPuFxrZQOeL

12. The common difference of an AP. 6, then a5 — ajj....... .

o Watch Video Solution

4 .
13.If = a, 2 are three consecutive terms of an AP, then find the value of

a.

o Watch Video Solution

14.If 4, 21, x5, x3 28 are in AP then 3 = 7

o Watch Video Solution

15.1f S, = 5n, then n'" term is ... .

o Watch Video Solution



https://dl.doubtnut.com/l/_0NPuFxrZQOeL
https://dl.doubtnut.com/l/_mfT4dMaRFpFg
https://dl.doubtnut.com/l/_6Lg1FjXExEjo
https://dl.doubtnut.com/l/_meQKhHxlS68z

16. Find the 16" term of the AP: 2,7,12,17, .......

o Watch Video Solution

17. The number of terms of AP: 18, 16, 14, ... That make the sum zero, is

o Watch Video Solution

18.Second term of the AP if the S, = n? + 21 iS v

o Watch Video Solution

Objective Type Questions Very Short Questions

1. Determine the 10th term from the end of the AP. 4, 9, 14, ,; 254.

° Watch Video Solution



https://dl.doubtnut.com/l/_BIdCwNhsPh9F
https://dl.doubtnut.com/l/_n11rq63fJBz8
https://dl.doubtnut.com/l/_aFHqYcETUzl3
https://dl.doubtnut.com/l/_Q6GtAcGt7z16

2.Find the sum of the first 50 natural numbers.

° Watch Video Solution

3. If the arithmetic mean of the first n natural numbers is 15, then n is

° Watch Video Solution

4.If in an AP a=15,d=-3 and a,, = 0. Then find the value of n.

° Watch Video Solution

5. Find the number of terms in the following AP.:

1
18,155, 13.. —47.

° Watch Video Solution



https://dl.doubtnut.com/l/_Q6GtAcGt7z16
https://dl.doubtnut.com/l/_eEhQriKS4jvI
https://dl.doubtnut.com/l/_8EUEAiMMP7gH
https://dl.doubtnut.com/l/_dSNVk2GoP5iI
https://dl.doubtnut.com/l/_rVBh9ppxt9ZR

6. Find the common difference of the Arithmetic Progression (A.P.)

1 3—a 3—2a
a’ 3a ' 3a

co..(a #0)

° Watch Video Solution

-3 5
7.)ustify whether it is true to say that — 1, R 2, DR Forms an AP

as as — a1 — ag — Qs.

° Watch Video Solution

8. How many two -digit numbers are divisible by 3?

° Watch Video Solution

9.In an AP, if the common difference (d)=4 and the seventh term (a7) is

4 then find the first term

. l


https://dl.doubtnut.com/l/_rVBh9ppxt9ZR
https://dl.doubtnut.com/l/_v6JIyw0jGoLF
https://dl.doubtnut.com/l/_MKHyp9AIaWCt
https://dl.doubtnut.com/l/_oysm8BY5rvWS
https://dl.doubtnut.com/l/_IWoMjxjauUJe

| ¥ Vvvatch video sSolution J

1 m+1 2m+1 .
10. The nth terms of an AP.—, , s een IS:
m m m

° Watch Video Solution

11.If the n'* term of the AP. — 1,4,9,14,.... is 129, find the value of n.

° Watch Video Solution

12. Find the 9th term from the ctowards the first term of the AP

5,9,13,..,185

° Watch Video Solution

13. For the AP —3, — 7, — 11, ... can we find directly a3y — asy without

actually finding a3q and ayg ? Give reason for your answer.

| ° Wiak A \NtAAaA CAlLiikiAan



https://dl.doubtnut.com/l/_IWoMjxjauUJe
https://dl.doubtnut.com/l/_hSrxTRBIsQCz
https://dl.doubtnut.com/l/_vlIhFF0v1lMM
https://dl.doubtnut.com/l/_3m7RjQMqvR3q
https://dl.doubtnut.com/l/_IIrTCZxcssBt

| ¢ YVULLIL VIMLUY JUVIVGIVEL )

14. If the first three terms of an A.P are b, c and 2b, then find the ratio of b

and c

° Watch Video Solution

15. What is the common difference of an AP. in which as; — a; = 82?

° Watch Video Solution

16. Q. For what value of k will k+9, 2k-1 and 2k+7 are the consecutive terms

of an AP.

° Watch Video Solution

17. Find the 16" term of the AP: 2, 7,12, 17.....

° Watch Video Solution



https://dl.doubtnut.com/l/_IIrTCZxcssBt
https://dl.doubtnut.com/l/_cek5Iiu95zQQ
https://dl.doubtnut.com/l/_DAe3yyP5RKZR
https://dl.doubtnut.com/l/_EHBo0kVk0cPX
https://dl.doubtnut.com/l/_Rm8ynewvzGVk

18. Find the mean of first eleven natural numbers.

° Watch Video Solution

19. Determine the 10th term from the end of the AP. 4, 9, 14, ,; 254.

° Watch Video Solution

20. Find the sum of the first 100 natural numbers.

° Watch Video Solution

21. If the arithmetic mean of the first n natural numbers is 15, then n is

° Watch Video Solution



https://dl.doubtnut.com/l/_Rm8ynewvzGVk
https://dl.doubtnut.com/l/_lTmqe2xOGIc5
https://dl.doubtnut.com/l/_Ymh7NH8C7kqH
https://dl.doubtnut.com/l/_XCLHJWqHnFkK
https://dl.doubtnut.com/l/_XaHueR7Osbth
https://dl.doubtnut.com/l/_H38PCMrrn65r

22.If in an AP a=15,d=-3 and a,, = 0. Then find the value of n.

° Watch Video Solution

23.Find the number of terms in the following AP.:

1
18,155, 13.. —47.

° Watch Video Solution

24.Find the common difference of the Arithmetic Progression (A.P.)
1 3—a 3—2a
a’ 3a ' 3a

co..(a #0)

° Watch Video Solution

-3 5
25. Justify whether it is true to say that —1, R 2, DR Forms an

AP as ay — a; = ag — as.

° Watch Video Solution



https://dl.doubtnut.com/l/_H38PCMrrn65r
https://dl.doubtnut.com/l/_RhrfTTzuyDpT
https://dl.doubtnut.com/l/_3p89mRCkoqyD
https://dl.doubtnut.com/l/_9qYLJgrqmZwy

26. How many 2-digit numbers are divisible by 37

° Watch Video Solution

27.1n an AP, if the common difference (d)=-4 and the seventh term (ay) is

4 then find the first term

° Watch Video Solution

1 m+1 2m+1 .
28.The nth terms of an AP.—, , s eee IS:
m m m

° Watch Video Solution

29. If the n'™ term of the AP. — 1,4,9,14, .... is 129, find the value of n.

° Watch Video Solution



https://dl.doubtnut.com/l/_9qYLJgrqmZwy
https://dl.doubtnut.com/l/_JOKZsY7bi8Gk
https://dl.doubtnut.com/l/_KomPP8KCpwUo
https://dl.doubtnut.com/l/_yLGWUyN3ywwK
https://dl.doubtnut.com/l/_nW1rt2IOtfu1
https://dl.doubtnut.com/l/_HIpgV3Y4DyFR

30. Find the 9th term from the ctowards the first term of the AP.

5,9,13,..,185

° Watch Video Solution

31. For the AP —3, — 7, — 11, ... can we find directly agy — a9y without

actually finding a3g and ayg ? Give reason for your answer.

° Watch Video Solution

32.If the first three terms of an A.P. are b, c and 4b, then find the ratio of

b and c.

° Watch Video Solution

33. What is the common difference of an AP.is 2 in which ay; — a;?

° Watch Video Solution



https://dl.doubtnut.com/l/_HIpgV3Y4DyFR
https://dl.doubtnut.com/l/_Yoe3DgcZtSi1
https://dl.doubtnut.com/l/_3OyMCTBkug4H
https://dl.doubtnut.com/l/_kyjjfPnUFlZm

34. For what value of k will £ + 9, 2k — 1 and 2k + 7 are the consecutive

terms of an AP.?

o Watch Video Solution

35. Find the 16 term of the AP: 2, 7,12, 17......

o Watch Video Solution

36. Find the mean of first eleven natural numbers.

o Watch Video Solution

Short Answer Sa | Type Questions

1.Show that (a — b)?, (a® + b*) and (a + b)® are in AP.

° Watch Video Solution



https://dl.doubtnut.com/l/_tvmwqhYvriga
https://dl.doubtnut.com/l/_WBogDUK9EYtO
https://dl.doubtnut.com/l/_Of1zxG5UusQA
https://dl.doubtnut.com/l/_3qbQMiWbtoGn

2. The 17" term of an AP exceeds its 10" term by 7. Find the common

difference.

° Watch Video Solution

3. How many multiples of 4 lie between 10 and 2507

° Watch Video Solution

4, Determine the AP whose third term is 16 and the 7th term exceeds the

5th term by 12.

° Watch Video Solution

5. Two A.P have the same common difference. The first term of one AP is 2

and that of the other is 7. The difference between the 10th terms is the


https://dl.doubtnut.com/l/_3qbQMiWbtoGn
https://dl.doubtnut.com/l/_nBUQWE0cXTfY
https://dl.doubtnut.com/l/_iCG3yB7ZXBSJ
https://dl.doubtnut.com/l/_pNFTulUWqcrj
https://dl.doubtnut.com/l/_mIVSwROd1Vyr

same as the difference between their 21st terms, which is the same as the

difference between any corresponding terms. Why?

° Watch Video Solution

6. Which term of the AP 3, 15, 27, 39,... will be 120 more than its 21st term?

° Watch Video Solution

7.1f S, the sum of first n terms of an AP. is given by Sn = 3n? — 4n, find

the nth term.

° Watch Video Solution

8. Find the sum of first 10 multiples of 3,

° Watch Video Solution



https://dl.doubtnut.com/l/_mIVSwROd1Vyr
https://dl.doubtnut.com/l/_zWysIkWOiQ1e
https://dl.doubtnut.com/l/_MlOMoF8xzla7
https://dl.doubtnut.com/l/_8mfno0swO9B7

9. If seven times the 7th term of an AP is equal to eleven times the 11th

term then what will be its 18th term?

o Watch Video Solution

10. The 10?" term of an AP.is —4 and its 22" term is ( — 16). Find its 38

term.

o Watch Video Solution

11. Find how many integers between 200 and 500 are divisible by 8.

o Watch Video Solution

12. Determine the AP whose 3"%erm is 5 and the 7"term is 9.

o Watch Video Solution



https://dl.doubtnut.com/l/_72uaniruvgMN
https://dl.doubtnut.com/l/_llgG5wWoSeT3
https://dl.doubtnut.com/l/_cWHWTbhZc0Jv
https://dl.doubtnut.com/l/_0kN0my2D8WCp
https://dl.doubtnut.com/l/_9uILYOj7GZXB

13. If the sum of the first 9 terms of an AP is equal to the sum of its first 11

terms, then find the sum of its first 20 terms.

° Watch Video Solution

14. Find the number of natural numbers between 102 and 998 which are

divisible by 2 and 5 both.

° Watch Video Solution

15. For what value of n, the nth terms of the arithmetic progressions 63,

65, 67, ... and 3, 10, 17,... are equal?

° Watch Video Solution

16. The common difference between the terms of two AP's is same. If the

difference between their 50" terms is 100, what is the difference between


https://dl.doubtnut.com/l/_9uILYOj7GZXB
https://dl.doubtnut.com/l/_cNgrrUP3pO9Q
https://dl.doubtnut.com/l/_zh8aG6Ah4Yqa
https://dl.doubtnut.com/l/_GCeuhh10IO6j

their 100" terms?

° Watch Video Solution

17.1n an AP, it is given that S5 + S; = 167andS;; = 235, then find the AP,

where §,, denotes the sum of its first n terms.

° Watch Video Solution

18.If the 4th term of an A.P. is zero, prove that the 25th term of the AP. is

three times its 11th term.

° Watch Video Solution

19. For an AP, it is given that first term (a)= 5 and Common Difference (d) =

3 and nth term = 50. Find n and sum of first n terms of AP

° Watch Video Solution



https://dl.doubtnut.com/l/_GCeuhh10IO6j
https://dl.doubtnut.com/l/_kOh0WW2Xq4FF
https://dl.doubtnut.com/l/_WPJnvlZPT7Bo
https://dl.doubtnut.com/l/_YPLMLQxQkzil
https://dl.doubtnut.com/l/_35BJsJk5IAHE

20. If 6 times the 6 term of an AP, is equal to 9 times the gth term, show

that its 15" term is zero.

° Watch Video Solution

21. Find the sum of all the 11 terms of an AP whose middle most term is

30.

° Watch Video Solution

22.Find the sum of the first 15 multiples of 8.

° Watch Video Solution

23. Two APs have the same common difference. The difference between

their 100™terms is 100, what is the difference between their 1000"*terms?

° Watch Video Solution



https://dl.doubtnut.com/l/_35BJsJk5IAHE
https://dl.doubtnut.com/l/_sFK3g4sGWcDj
https://dl.doubtnut.com/l/_NjuLVm6Jym6n
https://dl.doubtnut.com/l/_FTWfjuulGyfu

24.Show that (a — b)?, (a®> +b*) and (a+ b)* are in AP.

° Watch Video Solution

25. The 17" term of an AP exceeds its 107 term by 7. Find the common

difference.

° Watch Video Solution

26. How many multiples of 4 lie between 10 and 2507

° Watch Video Solution

27. Determine the AP whose third term is 16 and the 7th term exceeds the

5th term by 12.

° Watch Video Solution



https://dl.doubtnut.com/l/_FTWfjuulGyfu
https://dl.doubtnut.com/l/_N7tJGKMwhqqz
https://dl.doubtnut.com/l/_6J6QcdIG3NXh
https://dl.doubtnut.com/l/_mZ3YtGwThVfx
https://dl.doubtnut.com/l/_eg6Gue0xpekO

28. Two A.P have the same common difference. The first term of one AP is
2 and that of the other is 7. The difference between the 10th terms is the
same as the difference between their 21st terms, which is the same as the

difference between any corresponding terms. Why?

° Watch Video Solution

29. Which term of the AP 3, 15, 27, 39,... will be 120 more than its 21st term?

° Watch Video Solution

30. If S, the sum of first n terms of an AP. is given by Sn = 3n? — 4n,

find the nth term.

° Watch Video Solution

31. Find the sum of first 8 multiples of 3


https://dl.doubtnut.com/l/_eg6Gue0xpekO
https://dl.doubtnut.com/l/_pXPb5iSAhElS
https://dl.doubtnut.com/l/_n4EBDhJG8z5z
https://dl.doubtnut.com/l/_TxQVIUBkAkQd
https://dl.doubtnut.com/l/_02FTq15u6hof

° Watch Video Solution

32. If seven times the 7th term of an AP is equal to eleven times the 11th

term then what will be its 18th term?

° Watch Video Solution

33.The 10" term of an AP.is —4 and its 22" term is ( — 16). Find its 38"

term.

° Watch Video Solution

34. Find how many integers between 200 and 500 are divisible by 8.

° Watch Video Solution

35. Determine the AP whose 3™term is 5 and the 7"term is 9.



https://dl.doubtnut.com/l/_02FTq15u6hof
https://dl.doubtnut.com/l/_AE06C5o2IeRS
https://dl.doubtnut.com/l/_DifL50WkUpWa
https://dl.doubtnut.com/l/_SRvTWzNNb3Gc
https://dl.doubtnut.com/l/_C87vJFt85Jpf

| ° Watch Video Solution

36. If the sum of the first 9 terms of an AP is equal to the sum of its first 11

terms, then find the sum of its first 20 terms.

° Watch Video Solution

37. Find the number of natural numbers between 102 and 998 which are

divisible by 2 and 5 both.

° Watch Video Solution

38. For what value of n, are the n® terms of two APs : 63, 65, 67,.. and 3,

10, 17,... equal ?

° Watch Video Solution



https://dl.doubtnut.com/l/_C87vJFt85Jpf
https://dl.doubtnut.com/l/_P2ZuT2gx6bKY
https://dl.doubtnut.com/l/_VekEooHeXFZT
https://dl.doubtnut.com/l/_JO54eSjI5Qat

39. The common difference between the terms of two AP's is same. If the

Oth

difference between their 50" terms is 100, what is the difference between

their 100" terms?

° Watch Video Solution

40. In an AP, it is given that S5 + S; = 167andS;; = 235, then find the

AP, where S,, denotes the sum of its first n terms.

° Watch Video Solution

41. If the 4th term of an AP. is zero, prove that the 25th term of the AP. is

three times its 11th term.

° Watch Video Solution



https://dl.doubtnut.com/l/_asfuZuKDIWiB
https://dl.doubtnut.com/l/_muKEJCLh7ZmE
https://dl.doubtnut.com/l/_oCXC0aldv4Bh

42.1n an AP. given that the first term (a) = 54, the common difference (d) =
-3 and the n'" term (a,,) = 0, find n and the sum of first n terms (S,,) of

the AP.

° Watch Video Solution

43, If 6 times the 6" term of an AP, is equal to 9 times the gth term, show
q

that its 15" term is zero.

° Watch Video Solution

44, Find the sum of all the 11 terms of an AP whose middle most term is

30.

° Watch Video Solution

45. Find the sum of the first 15 multiples of 8.

| e |


https://dl.doubtnut.com/l/_2a3W77p7lO7p
https://dl.doubtnut.com/l/_oBcPSo1e50s6
https://dl.doubtnut.com/l/_EsEqf84eWhPb
https://dl.doubtnut.com/l/_PWeBqtdvY7hW

l &J Watch Video Solution J

46. Two APs have the same common difference. The difference between

their 100™terms is 100, what is the difference between their 1000"*terms?

° Watch Video Solution

Short Answer Sa li Type Questions

1. Justify whether it is true to say that the following are the nth terms of

an AP.

M2n—3  (i)3n2+5 (i)l+n+n?

° Watch Video Solution

2. Justify whether it is true to say that the following are the nth terms of
an AP.

M2n—3  ()3n>+5 (i)l+n+n?


https://dl.doubtnut.com/l/_PWeBqtdvY7hW
https://dl.doubtnut.com/l/_L7H2wUY7Ik78
https://dl.doubtnut.com/l/_t2wfN9KJA4c4
https://dl.doubtnut.com/l/_z75RIoZViWNa

° Watch Video Solution

3. Justify whether it is true to say that the following are the nth terms of
an AP.

M2n—3  ()3n2+5 (i)l+n+n?

° Watch Video Solution

4.Find a, b and c such that the following numbers are in AP, a, 7, b, 23 and

° Watch Video Solution

5. Determine the AP whose fifth term is 19 and the difference of the

eighth term from the thirteenth term is 20.

° Watch Video Solution



https://dl.doubtnut.com/l/_z75RIoZViWNa
https://dl.doubtnut.com/l/_VHPcs2hRNREw
https://dl.doubtnut.com/l/_EplPBEWJpYkx
https://dl.doubtnut.com/l/_HkauvQAETkbi
https://dl.doubtnut.com/l/_pOz6ucTD2s3H

6. The sum of the first 30 terms of an AP. is 1920. if the fourth term is 18,

find its 11?" term.

° Watch Video Solution

1 1 3
7. Which term of the sequence 20, 192, 185, 172, . is the first

negative term?

° Watch Video Solution

8. Find the middle term of the AP.7, 13,19, .. 247.

° Watch Video Solution

9.Split 207 into three parts such that these are in AP and the product of

the two smaller parts is 4623.

° Watch Video Solution



https://dl.doubtnut.com/l/_pOz6ucTD2s3H
https://dl.doubtnut.com/l/_4HunsRMIbE6l
https://dl.doubtnut.com/l/_K9QrLmwZtRUO
https://dl.doubtnut.com/l/_rUFpvkbu2MzJ

10. How many numbers lie between 10 and 300, which divided by 4 leave a

remainder 3?

° Watch Video Solution

M. Find the sum of two middle terms of the AP

4 1 2 1 4 1
§a ) §a 57“'7 g

o Watch Video Solution

12. Show that the sum of an A.P. whose first term is a, the second term is b

and the last term is ¢, is equal to ((a+c)(b+c-2a))/(2(b-a))

o Watch Video Solution

13. The first term of an AP is -5 and the last term is 45. If the sum of the

terms of the AP is 120, then find the number of terms and the common


https://dl.doubtnut.com/l/_MjDXDpu1CoVq
https://dl.doubtnut.com/l/_RmEzN4MrxnOF
https://dl.doubtnut.com/l/_JNo4BbZCn8BG
https://dl.doubtnut.com/l/_u3Fn43ktzerF

difference.

° Watch Video Solution

14. If S,, denotes the sum of first n terms of an AP, then prove that

S12 = 3(Ss — Sy)-

° Watch Video Solution

15. If sum of first 6 terms of an AP is 36 and that of the first 16 terms is 256

, then find the sum of first 10 terms.

° Watch Video Solution

16. The sum of the first n terms of an AP whose first term is 8 and the
common difference is 20 is equal to the sum of first 2n terms of another

AP whose first term is — 30 and the common difference is 8. Find n.

° Watch Video Solution



https://dl.doubtnut.com/l/_u3Fn43ktzerF
https://dl.doubtnut.com/l/_1nzhVutNxeHK
https://dl.doubtnut.com/l/_ef0HOVRBtEXd
https://dl.doubtnut.com/l/_TjgJBV6DzTMf

1 1
17. If the m®" term of an AP.is — and the n'* term is —, show that the
n m

1
sum of mn terms is E(mn +1).

° Watch Video Solution

18. find the sum of n terms of the series

(D) (e 2) e () b

° Watch Video Solution

19. For what value of n, the nth terms of the arithmetic progressions 63,

65, 67, .. and 3,10, 17,... are equal?

° Watch Video Solution

20. Find the sum of the first 40 positive integers divisible by 6.



https://dl.doubtnut.com/l/_TjgJBV6DzTMf
https://dl.doubtnut.com/l/_eer7nkvGAncI
https://dl.doubtnut.com/l/_JxtuwvBqmElF
https://dl.doubtnut.com/l/_b3rFE6G7wnlc
https://dl.doubtnut.com/l/_596Q91Dxp56X

| Y Watch Video Solution J

21. Divide 56 in four parts in A.P. such that the ratio of the product of their

extremes (1st and 4th) to the product of means (2nd and 3rd) is 5:6.

° Watch Video Solution

22.If the sum of first 7 terms of an AP. is 49 and that of its 17 terms is 289,

find the sum of first n terms of the A.P.

° Watch Video Solution

23.If the sum of first m terms of an AP. is the same as the sum of its first

n terms, show that the sum of tis (m + n) terms is zero.

° Watch Video Solution



https://dl.doubtnut.com/l/_596Q91Dxp56X
https://dl.doubtnut.com/l/_PlW5WjQulWwV
https://dl.doubtnut.com/l/_P52gmxd7Ds1R
https://dl.doubtnut.com/l/_vbBowtdzZJUe

24.How many terms of the AP. 9, 17, 25, ..must be taken to give a sum of

636 ?

° Watch Video Solution

25.The houses of a row are numbered from 1 to 49. Show that there is a
value of z such that the sum of the numbers of the houses preceding the

house numbered z is equal to the sum

° Watch Video Solution

26.The 14th term of an AP. is twice its 8th term. If its 6th term is -8, then

find the sum of its first 20 terms.

° Watch Video Solution



https://dl.doubtnut.com/l/_l2GPCTPxEg8O
https://dl.doubtnut.com/l/_J0s3yVhE5k9Z
https://dl.doubtnut.com/l/_A13BYMKI2PIq

27.The digits of a positive integer, having three digits, are in A.P. and their
sum is 15. The number obtained by reversing the digits is 594 less than

the original number. Find the number.

° Watch Video Solution

28. Find the sum of first 24 terms of the list of numbers whose nth term is

givenbya, = 3 + 2n

° Watch Video Solution

29. Determine the AP whose third term is 16 and the 7th term exceeds the

5th term by 12.

° Watch Video Solution



https://dl.doubtnut.com/l/_1AEPrCQUmjTG
https://dl.doubtnut.com/l/_zrnV36BnPlKr
https://dl.doubtnut.com/l/_9RQsXbJOalUX

30. Justify whether it is true to say that the following are the nth terms of
an AP.

M2n—3 (302 +5 (i)l+n+n?

° Watch Video Solution

31. Justify whether it is true to say that the following are the nth terms of
an AP.

M2n—3  (i)3n2+5 (i)l+n+n?

° Watch Video Solution

32. Justify whether it is true to say that the following are the nth terms of
an AP.

h2n—3 ()32 +5 (i)l+n+n?

° Watch Video Solution



https://dl.doubtnut.com/l/_tFM0AVqIQX83
https://dl.doubtnut.com/l/_pFBidkpoJ4wu
https://dl.doubtnut.com/l/_2PsirBG0V621
https://dl.doubtnut.com/l/_uGdSsG3sm9Pa

33. Find a, b and c such that the following numbers are in AP, a, 7, b, 23

and c.

° Watch Video Solution

34. Determine the AP whose fifth term is 19 and the difference of the

eighth term from the thirteenth term is 20.

° Watch Video Solution

35. The sum of the first 30 terms of an A.P. is 1920. if the fourth term is 18,

find its 11?" term.

° Watch Video Solution

1 1 3
36. Which term of the sequence 20, 192, 185, 171, . is the first

negative term?

° Watch Video Solution



https://dl.doubtnut.com/l/_uGdSsG3sm9Pa
https://dl.doubtnut.com/l/_DXjjDo6yDia4
https://dl.doubtnut.com/l/_YxETETUKZ2KJ
https://dl.doubtnut.com/l/_arO1hvs3GV54

37.Find the middle term of th e AP. 7,13, 19, ... 247.

° Watch Video Solution

38. Split 207 into three parts such that these are in AP and the product of

the two smaller parts is 4623.

° Watch Video Solution

39. How many numbers lie between 10 and 300, which divided by 4 leave a

remainder 3?

° Watch Video Solution

40. Find the sum of two middle terms of the AP



https://dl.doubtnut.com/l/_arO1hvs3GV54
https://dl.doubtnut.com/l/_9aDdGi2xKpOj
https://dl.doubtnut.com/l/_DUjudkSjSyHt
https://dl.doubtnut.com/l/_8Bd6sDJPB1zP
https://dl.doubtnut.com/l/_Bj5RmD0BmVcE

I o Watch Video Solution

41. Show that the sum of an A.P. whose first term is a, the second termis b

and the last term is ¢, is equal to ((a+c)(b+c-2a))/(2(b-a))

o Watch Video Solution

42. The first term of an AP is -5 and the last term is 45. If the sum of the
terms of the AP is 120, then find the number of terms and the common

difference.

o Watch Video Solution

43. If S,, denotes the sum of first n terms of an AP, then prove that

512 = 3(58 — 54)

o Watch Video Solution



https://dl.doubtnut.com/l/_Bj5RmD0BmVcE
https://dl.doubtnut.com/l/_XUFTm7p1LS9e
https://dl.doubtnut.com/l/_AYi1LM1TlxcF
https://dl.doubtnut.com/l/_JwBvpdcnYqZN
https://dl.doubtnut.com/l/_3hfSGfogsGzK

44. If sum of first 6 terms of an AP is 36 and that of the first 16 terms is

256, then find the sum of first 10 terms.

o Watch Video Solution

45. The sum of the first n terms of an AP whose first term is 8 and the
common difference is 20 is equal to the sum of first 2n terms of another

AP whose first term is — 30 and the common difference is 8. Find n.

o Watch Video Solution

1 1
46. If the m!™ term of an AP.is — and the n'" terms is —, show that the
n m

1
sum of mn terms is E(mm +1).

o Watch Video Solution

47. find the sum of n terms of the series


https://dl.doubtnut.com/l/_3hfSGfogsGzK
https://dl.doubtnut.com/l/_fut3jJoBurMd
https://dl.doubtnut.com/l/_JhY99onpYost
https://dl.doubtnut.com/l/_bUcLXEinq3VG

° Watch Video Solution

48. For what value of n, the nth terms of the arithmetic progressions 63,

65, 67, ... and 3, 10, 17,... are equal?

° Watch Video Solution

49. Find the sum of the first 40 positive integers divisible by 6.

° Watch Video Solution

50. Divide 56 in four parts in AP. such that the ratio of the product of

their extremes (1st and 4th) to the product of means (2nd and 3rd) is 5:6.

° Watch Video Solution



https://dl.doubtnut.com/l/_bUcLXEinq3VG
https://dl.doubtnut.com/l/_KUo5SKAwfD1L
https://dl.doubtnut.com/l/_ElKynyZelasn
https://dl.doubtnut.com/l/_uCqsKfzHrKLq

51.If the sum of first 7 terms of an AP. is 49 and that of its 17 terms is 289,

find the sum of first n terms of the A.P.

° Watch Video Solution

52.If the sum of first m terms of an A.P. is the same as the sum of its first

n terms, show that the sum of tis (m + n) terms is zero.

° Watch Video Solution

53. How many terms of the A.P. 9, 17, 25, ...must be taken to give a sum of

636 ?

° Watch Video Solution

54.The houses of a row are numbered from 1 to 49. Show that there is a

value of z such that the sum of the numbers of the houses preceding the


https://dl.doubtnut.com/l/_QsFiEedkuadG
https://dl.doubtnut.com/l/_9ECIT3fmbdsd
https://dl.doubtnut.com/l/_RJt1J1g1eTfJ
https://dl.doubtnut.com/l/_oAtR9l6h5hS2

house numbered z is equal to the sum

° Watch Video Solution

55.The 14th term of an A.P. is twice its 8th term. If its 6th term is -8, then

find the sum of its first 20 terms.

° Watch Video Solution

56.The digits of a positive integer, having three digits, are in A.P. and their
sum is 15. The number obtained by reversing the digits is 594 less than

the original number. Find the number.

° Watch Video Solution

57.Find the sum of first 24 terms of the list of numbers whose nth term is

given by a, = 3 + 2n

° Watch Video Solution



https://dl.doubtnut.com/l/_oAtR9l6h5hS2
https://dl.doubtnut.com/l/_rybc0QnHkWPi
https://dl.doubtnut.com/l/_G5waXD6hQXW7
https://dl.doubtnut.com/l/_o1SOCRFjkU1S

58. Determine the AP whose third term is 16 and the 7term exceeds the

5"term by 12.

° Watch Video Solution

Long Answer Type Questions

1
1. The 26th, 11th and the last terms of an AP are, O, 3 and — g,respectively.

Find the common difference and the number of terms.

° Watch Video Solution

2. Find the sum of the following series :

54+(—41)4+9+(—-39) +134+(—-37)+17+.... +(—5) +81+ ( —

° Watch Video Solution



https://dl.doubtnut.com/l/_o1SOCRFjkU1S
https://dl.doubtnut.com/l/_bLtxIjUh0Slx
https://dl.doubtnut.com/l/_uLeZk0Lj4Iex
https://dl.doubtnut.com/l/_fz0HPIXmYxeK
https://dl.doubtnut.com/l/_oFBoaIMgac99

3. The sum of four consecutive numbers in AP. is 32 and the ratio of the
product of the first and last term to the product of two middle terms is

7:15. Find the numbers.

o Watch Video Solution

4.Solveforz:1+4+7+ 10+ ... +x = 287

o Watch Video Solution

5.The sum of the first five terms of an A.P. and the sum of the first seven
terms of the same AP. is 167. If the sum of first 10 terms of this A.P. is 235,

find the sum of its first twenty terms.

o Watch Video Solution

6. Find the

(i) sum of those integers between 1 and 500 which are multiples of 2 as


https://dl.doubtnut.com/l/_oFBoaIMgac99
https://dl.doubtnut.com/l/_QunV2XE07Rbf
https://dl.doubtnut.com/l/_vFeLwPZxYrEe
https://dl.doubtnut.com/l/_eQrwf22uGOtr

well as of 5.
(ii) sum of those integers from 1to 500 which are multiples of 2 as well as
of 5.

(iii) sum of those integers from 1 to 500 which are multiples of 2 or 5.

o Watch Video Solution

7.Find the

(i) sum of those integers between 1 and 500 which are multiples of 2 as
well as of 5.

(ii) sum of those integers from 1to 500 which are multiples of 2 as well as
of 5.

(iii) sum of those integers from 1 to 500 which are multiples of 2 or 5.

o Watch Video Solution

8.Find the
(i) sum of those integers between 1 and 500 which are multiples of 2 as

well as of 5.


https://dl.doubtnut.com/l/_eQrwf22uGOtr
https://dl.doubtnut.com/l/_58tqn2mxPWbH
https://dl.doubtnut.com/l/_e4XYWG0KIgcI

(ii) sum of those integers from 1to 500 which are multiples of 2 as well as
of 5.

(iii) sum of those integers from 1to 500 which are multiples of 2 or 5.

° Watch Video Solution

9. An AP consists of 37 terms. The sum of the three middle most terms is

225 and the sumj of the last three terms is 429. Find the AP.

° Watch Video Solution

10. If the sum of first p terms of an AP. is equal to the sum of the first q

terms, then find the sum of the first (p+q) terms.

° Watch Video Solution

11. Find the sum of the integers between 100 and 200 that are divisible by

0.



https://dl.doubtnut.com/l/_e4XYWG0KIgcI
https://dl.doubtnut.com/l/_aoJXy86eWPXG
https://dl.doubtnut.com/l/_PdQ0jMoLYjIJ
https://dl.doubtnut.com/l/_fX5Jre5bIwq0

| ° Watch Video Solution

12. Find the sum of the integers between 100 and 200 that are divisible by

0.

° Watch Video Solution

13. Which term of the Arithmetic Progression —7, — 12, — 17, — 22, ..
will be —82?7 is — 100 any term of the A.P? Give reason for your

answer.

° Watch Video Solution

14. How many terms of the arithmetic progression 45, 39, 33,.... Must be

taken so that their sum is 1807 Explain the double answer.

° Watch Video Solution



https://dl.doubtnut.com/l/_fX5Jre5bIwq0
https://dl.doubtnut.com/l/_l7PMpG5Q5td6
https://dl.doubtnut.com/l/_vYEMlS7XWzxd
https://dl.doubtnut.com/l/_gGqjE98ZZBbm
https://dl.doubtnut.com/l/_o1AEWOrAG4w8

15. Show that the sum of an AP whose first term is a, the second term b

(a+c)(b+c— 2a)
2(b—a)

and the last term ¢, is equal to

o Watch Video Solution

16. If the sum of the first four terms of an AP is 40 and the sum of the first

fourteen terms of an AP is 280. Find the sum of first n terms of the A.P.

° Watch Video Solution

17. The sum of the 4th and 8th terms of an AP is 24 and the sum of the

6th and 10th terms is 44. Find the first three terms of the AP.

o Watch Video Solution

18. If the ratio of the 117 term of an AP to its 18" term is 2: 3, find the

ratio of the sum of the first five terms to the sum of its first 10 terms.

| o Watch Video Solution


https://dl.doubtnut.com/l/_o1AEWOrAG4w8
https://dl.doubtnut.com/l/_HP1IVAQqSEQR
https://dl.doubtnut.com/l/_lc5ZbgFDwppx
https://dl.doubtnut.com/l/_wlx8HPcz14Kx

19. The ratio of the sums of m terms and n terms of an AP. is m?: n>.

Prove that the ratio of their mth and nth term will be (2m - 1) : (2n-1).

° Watch Video Solution

20. Solve the equation —4 + ( — 1) + 2+ ... + = = 437.

° Watch Video Solution

21. A thief runs with a uniform speed of 100 m/min. After one minute a
policeman runs after the thief to catch him. He goes with a speed of 100
m/min in first minute and increases his speed by 10 m/min every

succeeding minute. After how many minutes the policeman will catch the

thief.

o Watch Video Solution



https://dl.doubtnut.com/l/_wlx8HPcz14Kx
https://dl.doubtnut.com/l/_rPwXrsDfshw4
https://dl.doubtnut.com/l/_FyQL339VFbGg
https://dl.doubtnut.com/l/_oIh8Cn6K56LO
https://dl.doubtnut.com/l/_71utZOyXjVgi

22. If the ratio of the sum of the first n terms of two Aps is (7n + 1) : (4n +

27) then find the ratio of their 9th terms.

o Watch Video Solution

1
23. The 26th, 11th and the last terms of an AP are, O, 3 and 5

srespectively. Find the common difference and the number of terms.

° Watch Video Solution

24.Find the sum of the following series :

5+(—41)+9+(—-39) +134+(—-37)+17+.... +(—5) +81+ ( —

o Watch Video Solution

25. The sum of four consecutive numbers in AP. is 32 and the ratio of the
product of the first and last term to the product of two middle terms is

7:15. Find the numbers.


https://dl.doubtnut.com/l/_71utZOyXjVgi
https://dl.doubtnut.com/l/_J6zYfhX5zIh5
https://dl.doubtnut.com/l/_CdKMNtY4iz6v
https://dl.doubtnut.com/l/_xKTvxmSDT26i

° Watch Video Solution

26.Solveforz:1+4+74+ 10+ ... +x = 287

° Watch Video Solution

27.The sum of the first five terms of an A.P. and the sum of the first seven
terms of the same AP. is 167. If the sum of first 10 terms of this A.P. is 235,

find the sum of its first twenty terms.

° Watch Video Solution

28.Find the

(i) sum of those integers between 1 and 500 which are multiples of 2 as
well as of 5.

(ii) sum of those integers from 1to 500 which are multiples of 2 as well as
of 5.

(iii) sum of those integers from 1 to 500 which are multiples of 2 or 5.


https://dl.doubtnut.com/l/_xKTvxmSDT26i
https://dl.doubtnut.com/l/_0Qm1xYB5FMmF
https://dl.doubtnut.com/l/_6v8ndxgYK8RU
https://dl.doubtnut.com/l/_4ZAiknGGn7Sy

° Watch Video Solution

29. Find the

(i) sum of those integers between 1 and 500 which are multiples of 2 as
well as of 5.

(ii) sum of those integers from 1to 500 which are multiples of 2 as well as
of 5.

(iii) sum of those integers from 1 to 500 which are multiples of 2 or 5.

° Watch Video Solution

30. Find the

(i) sum of those integers between 1 and 500 which are multiples of 2 as
well as of 5.

(ii) sum of those integers from 1to 500 which are multiples of 2 as well as
of 5.

(iii) sum of those integers from 1 to 500 which are multiples of 2 or 5.

° Watch Video Solution



https://dl.doubtnut.com/l/_4ZAiknGGn7Sy
https://dl.doubtnut.com/l/_GjECuGwRSxNG
https://dl.doubtnut.com/l/_t3SuRipKhvQ7

31. An AP consists of 37 terms. The sum of the three middle most terms is

225 and the sumj of the last three terms is 429. Find the AP.

° Watch Video Solution

32. If the sum of first p terms of an AP. is equal to the sum of the first q

terms, then find the sum of the first (p+q) terms.

° Watch Video Solution

33. Find the sum of the integers between 100 and 200 that are divisible

by 9.

° Watch Video Solution



https://dl.doubtnut.com/l/_t3SuRipKhvQ7
https://dl.doubtnut.com/l/_QYlJ5Vqbeyxf
https://dl.doubtnut.com/l/_d9hxesOY5imN
https://dl.doubtnut.com/l/_hP02dOH0c7uO

34. Find the sum of the integers between 100 and 200 that are

(i) divisible by 9. (ii) not divisible by 9.

° Watch Video Solution

35. Which term of the AP : 21, 18, 15,.. is 817 Also, is any term 0? Give

reason for your answer.

° Watch Video Solution

36. How many terms of the arithmetic progression 45, 39, 33,.... Must be

taken so that their sum is 1807 Explain the double answer.

° Watch Video Solution

37. Show that the sum of an AP whose first term is a, the second term b

(a+c)(b+c— 2a)
2(b—a)

and the last term ¢, is equal to



https://dl.doubtnut.com/l/_mvMe8oIhFZnQ
https://dl.doubtnut.com/l/_U5r8kdEwZkkf
https://dl.doubtnut.com/l/_3IYc3DKD0lZK
https://dl.doubtnut.com/l/_tw2KTpVn4w5c

| o Watch Video Solution

38.If the sum of the first four terms of an AP is 40 and the sum of the first

fourteen terms of an AP is 280. Find the sum of first n terms of the A.P.

o Watch Video Solution

39. The sum of the 4 and 8™ terms of an AP is 24 and the sum of its 6™

term and 10" term is 44. Find the first three terms of the AP.

o Watch Video Solution

40. I the ratio of the 11 term of an AP to its 18" term is 2: 3, find the

ratio of the sum of the first five terms to the sum of its first 10 terms.

o Watch Video Solution



https://dl.doubtnut.com/l/_tw2KTpVn4w5c
https://dl.doubtnut.com/l/_N9pH6ce7vNrI
https://dl.doubtnut.com/l/_6z0nbQ58tF7F
https://dl.doubtnut.com/l/_nBz0qfrjApei

41. The ratio of the sum of m and n terms of an AP. is m? :n2. Show that

the ratio m™ and n'" termis (2m — 1): (2n — 1).

° Watch Video Solution

42.Solve the equation —4 + ( — 1) + 2+ ... + z = 437.

° Watch Video Solution

43. A thief runs with a uniform speed of 100 m/min. After one minute a
policeman runs after the thief to catch him. He goes with a speed of 100
m/min in first minute and increases his speed by 10 m/min every

succeeding minute. After how many minutes the policeman will catch the

thief.

° Watch Video Solution



https://dl.doubtnut.com/l/_URDMIdx1jVAM
https://dl.doubtnut.com/l/_NDMOhjd2EIud
https://dl.doubtnut.com/l/_qjtFWXe3AY9E

44.If the ratio of the sum of the first n terms of two Aps is (7n + 1) : (4n +

27) then find the ratio of their 9th terms.

° Watch Video Solution



https://dl.doubtnut.com/l/_XQu5BW1DNur6

